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B) slow A) Past 

7) When newer processors can process all of the instructions handled by earlier 
models, the processor (CPU) is considered: 

..... --;--... 

r A)':Server B) calculator C) workstation D) supercomputer <i:» 

6) What is a computer that provides software and other resources to computers 
over a network? 

C) System clock (bysystem buses. B) CPU. A)CMOS 

5) Information travels between components on the motherboard 
through _ 

@1001. B)lOOO C) 1010 D) 1011. 

4) Typically, are constructed out of thousands of 
microprocessors. 

~upercomputers B) Laptops C) Personal computers D) Mainframe 
.__Y 

computers 

D)none of the above. 

A) RAM contains the data about the system while RONI contains the data about 
the current active application. 
@RAlVI has volatileo _;;~) data while ROM has permanent (~L';)data. 
C)ROM has volatile data while RAM has permanent data. 

\ 
0 
0 

) ~-~~. 
3) Number 9 is represented in memory as 

2) The main difference between RAM and ROM 

A) Vacuum tube B) repeater C) transistor @silicon chip 

1) Which technological advancement (~)_,.!S:Jl Jfa.:ill) made it possible for 
computers to become as small as they are today? 

l\1ULTil3LE CHOICE. Choose the one alternative that best completes the statement 
or answers the question. 
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B)DVD 
D)BD 

~CD 
{Sf MFD 

14) All of the following are types of optical disk except 

D. None of the above C. Norn compatible 

~ Backward compatible A. Forward compatible 

13)CPU in the same family are generally designed to be 

D. Flash Memory 
·s:'"~ {!)ROM 

C. Hard disk 

~ 
12)The program that is responsible of booting process is stored at 

A. A bar-cod reader 

@. Sensor 

Jt<> ) ' 
B. Scanner 

t?' D. screen 

:::.'-·' ' 

11) Which of the following is both an input and an output device 

D. Harddisk 

c- ,_;_9 @RAM 
t' 

C. TheCPU 

lO)Wben you are working on an unsaveddocument on a PC, where is the document 
temporarily stored? 

9) The computer that provides other computers connected to the network with access to 
data, programs, or other resources: 
A. Workstation 
B. laptop 
CJ server 
D. none of the above 

Which of the following connect the units on the mother board 
A. ports . c::! ~ @. busses 

~--L ~uodem D. peripherals 

e--8) 
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A) written with a laser beam. ·B) random. C) laser read. . ~yb.1ucntial 

A) further apart the pixels. B) less clear the screen is. 
Ql'\ closer toceth er the pixels ~v , . -'- '-··'· 1.I. b·c_ .. ,1~.. . .. L . ::,. C) iz:~-;:_;cr the pixels. 

19)The h]gher the resolution of a monitor, the 

C) Bar code readers. @Printers. A) HFID B) Optical mark. 

:rn)These are considered as devices allow computers to read marks that represent 
codes except: 

B) Word recognition software 
D) Talking software 

A} Speech input hardware 
...,, .. I 

([}Speech recognition software 

1'7) can interpret (J~ .J :; ..... ~) voice data into words that can be 
understood by the computer. 

//t6) The word size of a typical PC's CPU is 
r 

( A) 8 or 16 bits. B) 32 or 64 bytes. C) 1 or 2 bytes. ~ 32 or 64 bits. 

/5) AH of the following are true regards ASCH code exceptn> L") 

\~ .§~1rn;!sJ'or American Standard Code. for Information Interchange. 1~) 
Each character is a unique 8 bits code. 

C) Supports 256 unique codes for 26 letters, 10 digits, and special characters: 
D) Supports more than 100,000 unique characters.v. 
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Question # Answer 

r. (() J.. 
2. .. , 

tB V' 
3. r 

// 

CB v/ 

4. 
,,./" c J' 

5. 
~ /.. 

6. 
~ 

1 
ci' .... 

7. / 

B / c> 
8. / 

~ 
i./ 

' 9. c J 

/ 10. 
~ 

I [7' 

11. c ·~ 

12. 
~ Ci-..,. 

13. / 
/ 

<13 
/ v / 

/' 

14. 
/ 

c v 
- .. ~ ... / , 

15. 
~ 

L,/ 
// 

/ 

16. ..,, 
c 

17. / g / 

(/ 

18. 
.> 

c ../ 

19. 
/ 

·1) _ ..... ..?/ 

,/ 
20. c .,,/ 

/ 

Please put all of your above answers here: 

- 
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_f/!1 

(8 marks) 1. Differentiate between lJ:!:i J_) 
Primary Storage and Secondary Storage 
And give example on each one 

(SO Marks) Question Two 
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Good Luck 

lA (8 marks) t r \t:..t\ i'\L• \,c \--...!') c, . i 
J . I IK.., 

~1~1,J- di' s K 
o.o\0 

.: 

6. Order the following devices from fastest to slowest 
~ ~ ~ t 

Hard disk, Ram, CD-ROM, Mazne ic tape <? (D CT) ~. 
\_ t'\,. ,.,h . . /7 

)_ 

('·I 
\.f 

1' 1.) 

5. CPUs in the same family are backward compatible what do we mean by backward 
compatible? (8 marks) -: Jj ._µ1, ~1V\.. lJUL.S\\:ill\S 

-JlcJ- v'l.-_C,.(\._.h~ Re... ~e".J CflJ ~/('~~ 0 

a.£crus ~1 ~ 1eJ d t// 
. , " . er-> Cf U 

;o.JI/,~ 

i 
/, ', 


